Quiz 16 Solution  Fall 2010  October 15
This problem is from Lesson 7 material.
Find the zeros (roots) of 
[image: image1.wmf]54

15

7

5

)

(

2

3

4

-

+

+

-

=

x

x

x

x

x

f

 .   Also, give a factorization for the polynomial.
Factors of  
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Factors of  1:  1

Possible rational zeros (roots):  
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Trying  1:
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Thus,  
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 is not a factor of  f  and 1 is not a zero (root) of  f.  Also, 1 is not an upper bound for the positive zeros (roots).

Trying  
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Thus,  
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 is not a factor of  f  and 
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 is not a zero (root) of  f.  Also, 
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 is not a lower bound for the negative zeros (roots).

Trying  2:
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Thus,  
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 is not a factor of  f  and 2 is not a zero (root) of  f.    Also, 2 is not an upper bound for the positive zeros (roots).
Trying  
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Thus,  
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 is a factor of  f  and 
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 is a zero (root) of  f.  Also, 
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 is a lower bound for the negative zeros (roots).  Thus, the numbers  
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 are not zeros (roots) of  f.
Thus,  
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Note that the remaining zeros of the polynomial  f  must also be zeros (roots) of this first quotient polynomial 
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.  We will use this polynomial to find the remaining zeros (roots) of  f, including another zero (root) of  
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Trying  
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Thus,  
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 is a zero (root) of  f  of multiplicity one.
Trying  3:
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Thus,  
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(and  f  ) and 3 is a zero (root) of  
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Thus,  
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Thus,  
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Now, we can try to find a factorization for the expression  
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Using the Quadratic Formula to solve  
[image: image69.wmf]0

9

4

2

=

+

-

x

x

, we have that


[image: image70.wmf]a

c

a

b

b

x

2

4

2

-

±

-

=

  =  
[image: image71.wmf]2

)

9

(

)

1

(

4

16

4

-

±

  =  
[image: image72.wmf]2

36

16

4

-

±

  =


[image: image73.wmf]2

20

4

-

±

  =  
[image: image74.wmf]2

5

2

4

i

±

  =  
[image: image75.wmf]5

2

i

±


Answer:
Zeros (Roots):   
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Factorization:
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_1348659769.unknown

_1348661578.unknown

_1348661909.unknown

_1348661953.unknown

_1348661980.unknown

_1348662249.unknown

_1348662264.unknown

_1348662270.unknown

_1348662260.unknown

_1348662022.unknown

_1348661971.unknown

_1348661933.unknown

_1348661946.unknown

_1348661915.unknown

_1348661877.unknown

_1348661899.unknown

_1348661889.unknown

_1348661744.unknown

_1348661843.unknown

_1348661860.unknown

_1348661691.unknown

_1348661717.unknown

_1348660950.unknown

_1348660973.unknown

_1348661285.unknown

_1348661415.unknown

_1348661035.unknown

_1348660962.unknown

_1348660967.unknown

_1348660956.unknown

_1348660272.unknown

_1348660383.unknown

_1348660821.unknown

_1348660943.unknown

_1348660812.unknown

_1348660316.unknown

_1348659912.unknown

_1348660216.unknown

_1348659781.unknown

_1348658978.unknown

_1348659395.unknown

_1348659692.unknown

_1348659764.unknown

_1348659619.unknown

_1348659644.unknown

_1348659504.unknown

_1348659046.unknown

_1348659092.unknown

_1348659098.unknown

_1348659090.unknown

_1348659091.unknown

_1348659089.unknown

_1348659025.unknown

_1348659034.unknown

_1348659019.unknown

_1347192777.unknown

_1347880034.unknown

_1347880140.unknown

_1347880498.unknown

_1347885770.unknown

_1347880127.unknown

_1347879795.unknown

_1347192748.unknown

_1347192758.unknown

_1347192731.unknown

